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CHEMISTRY
Paper : CHMHG/RC3036
( Chemistry—III )

Full Marks : 60
Pass Marks : 24

Time : 3 hours
The figures in the margin indicate full marks
Jor the questions

1. Choose the correct answer from the following
(any five) : 1x5=5
e PRIART wE oednt ait Shieat (R o
“fi561) :

(a) Non-ideal solution showing positive
deviation from Raoult’s law is

%564 TR [ g Ryfe wofiar st w1
EL|

(i) HyO +HCl
(i) Hy0 +HNO,
(iii) CoHsOH + H,0
(iv) CgHg+ CgHs—CH,
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(2) ‘ (3)

(b) The mathematical expression of phase (ii) b,rtzmo benzene
rule is ) : IV @A
A ol M g 2

(iii) iodo benzene

() P+F=C+2 'S @@ e
.. (iv) benzene
(i) P+F=C+1
. eRitT|
(i) P+F=C-2
. L ! (e) D-glucose contains the. functional
(iv) P+F—C> 1 | group :
(c) S.I unit of specific conductance is : D-Fwe 3 IRIA TR XA
RfR AR s.I. &= 7 , (i) aldehyde
(i) ohm™ cm™! | r e
eq1 ofiy-1 _ (i) ketone
(i) ohm™ m : fee'a
eyl -1 | (iii) aldehyde and hydroxy
(iii) ohm. m™! : GfERRT W YR
ey, -1 | (iv) carboxylic
(iv) ohm. ‘cm ; IR 4
e J ()’ Which of the following tests is used for
. . ‘ i id?
(d) Benzene diazonium chlorid 3 arno acl
treatment with cuprous chloridee yiel?il; O] @IRY Aw R afes I T @
R SRawPEN F'9f3s ReSer 'afoe ' (i) Fehling solution
a1 RiFT IR oot wg ey 79 9wl
(i) chloro benzene (ii) Tollen’s reagent
FY Qe e Rfgre «Sm
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( 4)

(i) Ninhydrin test
IRy «idwt

fiv) Lucas reagent test
6 Riews 9wt

Hell-Vohlard-Zelinsky reaction involves
with the functional group
F-9'AS- R Ridrare wives o P
TP TA

(i) carboxylic acid
I «fbe
aldehyde
U e
ketone
57
alcohol
T

(ii)
(iii)

(iv)

Rosenmund’s reduction i, .
the functional groyp, involves with

IS Ry
2 Ridrare YT iR

(i) amide

TS

(i) acid chloride

5w F3ivs

i/}

~ 24KB/30
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(5)

(iii) ketone
f¥5'7

(iv) alcohol
LS|

As temperature increases electrolytic
conduction

Sgol T o et Rge ReR RaiRer
an .
(i) increases
B14%
(ii) decreases
IS
(iii) remains unaffected
i AT

(iv) None of the above

SERke Jdoie T=m

For water system, the number of
phases at triple point is

N RS 2l AR R XA
B o DU
(i) 1
(iti) 2
(iv) 3
( Turn Over )
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(6) - (7))

2. Answer the following (any five) : 2x5=10 - (e) Aniline does not undergo: Friedel-Crafts

reaction. Why? 2
wore fraee &1 Frt (R ot <foby) e Broeer-apes R comam | R o

(a) Define azeotropes with examples. 1+1=2

() Write a short note on ‘Sandmeyer
TAACIRCTS ARG st Rt |

reaction’, 2

o G ordi— ‘oot Rfert’ |
(b) Define molar conductance with

mathematical expression, 1+1=2
LIS e I S — .
forar '

(g) Define epimers and anomers. 1+1=2
aPEIT W @IS T B

(c) Calculate Fhe e.m.f of a cell in which 3. Answer the following questions (any five) :
the following reactions take place at ’

5x5=25
. l . -
different electrodes : 2 . e See Bt (R GGt shot)

Zn?* +2e 5 zn;

A | will you distinguish 1°, 2° and 3
Ag* +e” - Ag; oL (@) How you distinguish 1°, 2° and 3°
& E°=+0.79v | amine by Hinsberg test? 3+2=5
W@Ntﬂﬁae.mfﬁmmﬂtwm | el RiPR =@w R 1°, 2° @i 3°
WW{WWMMW | 9T A CTgERI? :
| |
2+, oo~ ) oo (b)) How does molar conductivity vary with
Zn™ +2€” Zn; E°=_0.7¢ v | concentration in case of strong and
Agt+e Ag; E°=40.79 v : weak electrolyte? Explain graphically.
| What is meant by molar conductivity at
. ; infinite dilution? 4+1=5
(d) How will you conve ) . i )
into (i) Amide and (il;tE::IgOXYhC aCI(iI’Q; @3 ui$ ﬁﬁlﬂg ﬁt‘,‘ﬁl g1 SlivoR Gite V&R
- it ! AR QAT T = ? W wTgers ey
[ ,
gy I GRR RS WM Fo? eriban TS g
f ' 24KB/30 Turn O
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( 8 ) | (2 )

(c) Describe Hittor's method of determina- v Gt ot (R et wBt)
tion of transport number of ions in an ' -S'AG-(aRms Rt
electrolyte. 5 () s ’
Rige Rerg ¥ 9B/ SR e By v (i) TR R
356 &S 3 =) (i) EenR Ride
(d) Explain the mechanism of enzyme (h) Explain the primary, secondary and
action. 5 tertiary structure of proteins. 5
TR T aiders g 3| AR, el =iw SR o a5
' F401
(e) How will you convert D-Arabinose into
D-Glucose? 5 (i) Explain the following terms : 1+2+42=5
@ D- w5 D-1ere R FR12 (i) Acid value

. (ii). Iodine number .
() How will you convert : | (iij) Saponification value
() aniline into p-bromo aniline;

; | oo fRIER @R Bt
(ii) ethanoic acid into ethanamide? 3+2=5 (i) <fow =
R ARaé SRR | (i) e e

(i) SR p-3'% efforita; | (i) DAINFI A

(i) WART Ifos Smantaste

| 4. Answer any two questions from the following :

(9) - Write short notes on (an 5 _
Y two) :  2y,x2=° 10x2=20
() Hell-Vohlard-Zelinsky reactiop | wors e R ot wor Se frat
(ii) Perkin reaction (@ (i) fI\Derive Gibb’s phase rule. 4
| DEi|
(iti) Reformatsky reaction 3 ARY 7@ Berel |
24KB/30 24KB/30
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(b)

(c)

(@)

24KB/30

( 10 )

(i) Describe the phase diagram of 6
sulphur system, '

QRS Aw g 3671 3111 !

Define non-ideal solution. Explain with
examples and figures the negative and
positive deviation from Raoult’s law. 0

2+4+4=1¢
T wie ErbEd
R IR I

[

T TS e
TS NS g
R ot =1

(i) Define Zwitterion, isoelectric point
and electrophoresis of amino acids- o
2+2+2%
RE I S waior wem ot | :

(i) Write the co iti d
P an
. mposition of AT 2_'_2,4

() What ) .
Wri?e a:ﬁ:ucleomde and nucleotide?

role : id in
human, body, 8 of nucleic acid o+

Refrereg
RS %ﬁ%:

5!
|

(11 )

(i) Complete the following reactions -

_ 1x5=5
wors il Ridrmica sspf w1 -
Cl,
1. CHy—CH,— COOH—T)?
2. CH;—CONH, iAOS_)?
H3PO,
3. @N;cr H,0 ?
NH,
Br.
4, —2_ 7
H,O
BI'2
5. @—CONH2 TOH—)?
* % %
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